
                                         Week 7 : 18 / 10 – 23 /10 / 20
                                       TOPIC 3 : A trip to the countryside
                                          Lesson 5: Language Focus
Về nội dung: Học sinh sẽ phát triển về vốn ngữ pháp modal could with wish, the past simple with wish , prepositions of time, adverb clauses of result
 Hướng dẫn: Để làm bài tập tốt, các em cần xem kỹ công thức , sau đó làm bài tập trong SGK trang 28. 29, 30,31.
[bookmark: _GoBack]I. Wish (with could and past simple)
1. Ước việc gì đó xảy ra:                             S1 + WISH ( ES) + S2 +   were/ Ved,2/ (could + V)
2. Ước việc gì không đó không xảy ra:S1 + WISH( ES) + S2 + weren’t / didn’t + V/ (couldn’t+ V) 
Exercise
1/29
a) Ba / can have / new bicycle  Ba wishes he could have a new bicycle.
b) ...................................................................................................................................
c) ....................................................................................................................................
d) ...................................................................................................................................
e) ...............................................................................................................................
f) ..........................................................................................................................................
II. Preposition of time.
	in
	Tháng (in March) , năm (in 1999), mùa (in the summer), buổi (in the morning)

	on
	thứ (on Monday), ngày tháng (on may 18th), the weekend, ngày lễ (on Christmas Day.

	at
	Giờ (at 2:00), night, weekend, tên lễ at Christmas

	for/since
	For + khoảng thời gian (for a long time/for 10 years), since + mốc thời gian. (since yesterday/ 1987)

	from....to/till
	Từ .................tới/ cho đến

	between ....and
before><after
	Giữa ....................... và
Trước>< sau
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a) ..........................................
b) ...........................................
c) ...........................................
d) ...........................................
e) ..........................................
f) ........................................
b)
a) ..........................................
b) ...........................................
c) ...........................................
d) ...........................................
e) ..........................................
f) ........................................

III. Adverb clauses of result.
so : vì vậy / vì thế là liên từ được dùng để diễn đạt kết quả của một sự việc hành động
because: bởi vì là liên từ chỉ nguyên nhân của sự viêc, hành động.
A so B
B because A.
It rains heavily, so I don’t go out.
I don’t go out because it rains heavily.
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............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

IV. Rewrite the second sentence so that it has a similar meaning to the first : 
          KẾT QUẢ + BECAUSE + NGUYÊN NHÂN
          NGUYÊN NHÂN + SO + KẾT QUẢ
1. Because the weather was cold, they had to cancel their picnic.
·  The weather ………………………………………………………………………………
2. They studied very hard and that was why they passed examination.
·    They studied……………………………………………………………………………
3. They sat down for a rest because they were very tired .
· They were……………………………………………………………………………………
4. I can’t go out because it’s raining.
·  It’s ………………………………………………………………………………………
5. This book is interesting enough for me to read many times
·  This book …………………………………………………………………………………
6. He is too young to go to school.
      He is ………………………………………………………………………………………
7. As she got up late, she missed the first class .
·   She got ……………………………………………………………………………………
8. He is so full that he can’t eat any more.
·  He is ………………………………………………………………………………………
9. Because they forgot about the time, they arrived home late.
·   They forgot……………………………………………………………………………
10. He can’t work hard any longer because of his old age .
· He is       …………………………………………………………………………………………                                  

